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300 M Z i 10,000 224,000H
300mL £, 2,000m K 26,000H 357,000H
ZEAE 2,000mL . 5,000m =k 78,000 509,000H
FTEZTAE 5,000m L. 10,000m K 124,000/ 627,000
10,000m L k. 25,000 m i 153,000 729,000H
L 25,0000 & 192,000 831,000H
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300 m R 10,000 86,000
300m Ll E. 2,000m K 26,000 142,000H
. R 2,000mL . 5,000m=*kH 78,000 229,000H
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5,000m . 10,000 ki 124,000/ 299,000H
10,000m L k. 25,000 m 5% 153,000/ 353,000H
25,000 192,000/ 415,000H
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s 200 m &5 5,000M 18,000
BEHEREDH) 200m L E 5,000H 19,000
300 m Z i 10,000H 67,000
N . 300m Ll E. 2,000m K% 20,000MH 114,000H
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2,000mLL . 5,000m=m 45,000 193,000H
N 5,000m 4 77,000H 268,000H
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300 m <5 10,000H 32,000H
R R 300mLAE. 2,000 20,000/ 56,000/
EEBAREDH) 2,000mLL . 5,000m =k 45,000 102,000H
5,000m 4k 77,000 149,000H
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